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General Instructions :

Questions No. 1 to 10 are Multiple Choice Questions. Choose the correct option
out of the given options and write the same in your answer-sheet.
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Contract costing is used when
(a) A single product is mass produced
(b)  The work is done on no profit no loss basis

(c) A big long-term job is carried out at the site
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The following is a suitable method of costing for flour mills :
(a)  Operating costing

(b)  Output costing

(c) Contract costing
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While reconciling the cost and financial accounts, if costing profit is taken
as the base, then the items to be added to costing profit are

(a) Amount by which the opening inventory is overvalued in cost
accounts and items of income included in financial accounts only.

(b)  Amount by which the opening inventory is undervalued in cost
accounts and items of expenditure included in financial accounts
only.

(c) Amount by which the closing inventory is overvalued in cost
accounts and under-absorption of overheads in cost accounts.
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Contract costing is not used in one of the following industries :
(a)  Ship building
(b)  Brick making

(c) Building roads
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Single or output costing is used to calculate

(a)  The cost per unit of the manufactured goods
(b)  Cost of a service provided

(c) Cost of a contract on its completion
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Notional rent charged in cost accounts
(a)  Decreases costing profit
(b)  Increases costing profit

(c) Decreases financial profit
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For a Nursing Home, the suitable method of costing will be

(a)  Contract costing
(b)  Operating costing

(c) Process costing
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In transport costing, maintenance charges include

(a)  Overhaul charges, salary of supervisor and wages of the driver
(b)  Diesel, total cost of tubes and tyres and wages of the cleaner

(c) Vehicle service and repair charges
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Process costing is appropriate when

(a)  Similar products are mass produced on a continuous basis
(b)  Work has to be done at the customer’s site

(c) Each product has to be made as per customer’s specification
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When the value of work completed and certified is 40% of the contract
price, the profit to be credited to Profit and Loss a/c is

(a) Nil
(b)  2/3 of the total profit
(c) 1/3 of the total profit
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How is economic batch quantity determined ?
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Name any four items which are shown only in financial accounts.
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Give any two points of distinction between job costing and contract
costing.

3T AT @R § ‘glg ameImsr i FHIST |

Explain ‘escalation clause’ in contract costing.
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What is abnormal loss ? How is it treated in process cost accounts ?
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Give two reasons to prove the necessity of reconciling cost and financial
accounts.
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Define joint product and by-product.
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Name any four industries suitable for process costing.
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Mention four advantages of job costing.



20.

21.

22,

23.

24.

25.

305

Y IS I ShRUT 9dT3U ST ATTd @il gra 7R T wrai g fegme oy |

3T~ 3cqe hL Tohd © |

Give any two causes which may create a difference between the profits
shown by cost accounts and financial accounts.
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How would you treat the following at the time of reconciliation if profit as
per cost accounts is taken as the base ?

(a)  Over-absorption of overheads in cost accounts
(b)  Interest on capital is included only in cost accounts

(c) Opening stock is undervalued in cost accounts
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What is operating costing ? How does it differ from process costing ?
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What rules are generally followed for calculating profit on incomplete
contracts ?
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How will you treat normal loss and abnormal gain in process cost
accounts ?
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State three advantages of a cost sheet.
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The following information is given in respect of a contract for ¥ 8,00,000
which was commenced on 1% January, 2017 :

3T
Material issued 1,40,000
Labour charges and overheads 2,00,000
Plant issued at cost 5,00,000
Material at site on 31 December, 2017 60,000
Value of work certified on 31 December, 2017 3,00,000
Cash received upto 31 December, 2017 2,70,000
Cost of work uncertified on 31 December, 2017 90,000
Depreciation on plant 10% of cost

Prepare the Contract a/c for 2017 showing the profit to be credited to the
year’s Profit and Loss a/c.
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What is job costing ? Explain the important features and objectives of job
costing.

OR

A product passes through two processes to completion — Process I and
Process II. From the following information about these processes, prepare

Process I a/c and Process II a/c :

Process 1 Process 11
Direct materials (units) 2,000 -
Cost of material per unit (¥) 10 -
Direct wages (3) 50,000 50,000
Overheads (3) 20,600 22,720
Output (units) 1,800 1,440
Normal loss (% of input) 10% 10%
Realizable value of scrap p.u. (3) 3 4
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Explain how will the following items of closing inventory be valued in

cost accounts :
(a)  Work-in-progress

(b) Raw materials

OR
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A transport service company is running a bus between Delhi and
Faridabad. From the following particulars for the month of

December 2017, find out the cost per passenger-kilometre :

Average number of passengers carried 30

Total kilometres covered for the month 1500 km

Diesel and oil < 6,000

Taxes, insurance and repairs T 4,000

Depreciation T 5,500

Interest and other charges T 7,000
11
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